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A T
GENERAL KNOWLEDGE

1. T <Hifd R AT 1 g7 e Ffoifad § @ S-a1 8 7
(A) ITTTreRTRE: AT | Tewdl o SRINT i icaTed
(B) SATRIEATIER sl § TUSH ol TcaTad hedl
(C) A T & “TWIaAi bl S Te ¢l
(D) &=t < =i bl T <1
Which of the following is the main objective of the Rajbhasha Kirti Puraskar Yojana ?
(A) To encourage the use of Hindi in official work
(B)
(C) To Promote regional languages in India
)

(D
2. 3cHd UIde ford o9 arey feRam R 2

In which year was the UTSAV portal launched ?

To encourage English in official work

To honour Hindi poets

(A) 2024 (B) 2023 (C) 2020 (D) 2022
3. FE - | G — 1| o WY GAfId Hifere qem gt & e fqu MU e T wE W g |
gt -1 gt -1l
() (TETH)
a. 3Wfag arfem . T e 3ATh wre forg
b. fertor gaTs Il. T SIRNEH 3% |
c. ey U lll. € SBTEL TR
d. =ff. g, T IV. 31 T Sl ®e
<<
(A) a=1L,b-ll,c—=1l,d-1V B) a=Ill,b=Il,c—-1,d-1V
(C) a-Ill,b—=IV,c—1I,d-1ll (D) a—1IV,b—-1Lc—1I,d-Ill
Match List — | with List — II and select the correct answer from the code given below the lists.
List -1 List -1l
(Author) (Book)
a. Arwind Adiga I. The God of Small Things
b. Kiran Desai Il. The Inheritance of Loss
c. Arundhati Roy [ll. The White Tiger
d. V. S. Naipaul IV. In a Free State
Code :
(A) a=IL,b-lll,c—-1l,d-1V B) a=Ill,b=Il,c—-1,d-1V
(C) a=ll,b=IV,c—1I,d-1l (D) a—=1IV,b—=1Lc—1I,d-ll
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4. HHA-H AT T, 2024 H T 20 AR HUS BT SR GSARUT A H ATefl TRAT T8t
S §9 T ?

Which Indian company became the first Indian company to achieve a market capitalization of Rs. 20 lakh

crore in 2024 ?

(A) Reliance Industries
(B) T.C.S.

(C) HDFC Bank

(D) Adani Enterprises

5. oo GEER U9 o IATeH o fotw armh ufag 7

(A) ST (B) Heft

(C) &g (D) "
Nagaur is famous for the production of which aromatic crop ?

(A) Cumin seeds (B) Fenugreek
(C) Garlic (D) Coriander

6. YRd 1 Tgcll JA: SRS BTSI6IS Tehe &I -| Waifua fepam
(A) 31 femst 2024
(B) 04 femsw 2024
(C) 04 fodeX 2024
(D) 24 3TTE 2024

India’s first reusable hybrid rocket Rhumi-| was launched on
(A) December 31, 2024
(B) December 04, 2024
(C) September 04, 2024

(D) August 24, 2024
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7. -1 g - 11 % Ty gafera HIfe qen gheet @ i e T %e @ wd 3w g |

g -1 g -l

(7 forgafererera) (¥T)
a. TS Yo fovafaeed | I
b. =TSt UTYEE S o favafaere™ II. hIcTshTdT
c. FUHAM WEER Y fteere™ 1. e
d. 9. getole ¥ go fovafaeme™ Iv. T
%c :
(A) a—=IV,b—1lll,c—Il,d—]1 (B) a—lil,b—1Il,c—1V,d—1
(C) a—ll,b—1I,c—IV,d—1l (D) a—IV,b—1Il,c—1,d—1l

Match List — | with List — Il and select the correct answer from the code given below the lists.

List -1 List -1l
(Open University) (Place)

a. Global Open University I. Kota
b. Netaji Subhashchandra Bose Il. Kolkata

Open University

c. Vardhman Mahaveer [ll. Bilaspur
Open University

d. Pt. Sundarlal Sharma IV. Dimapur
Open University

Code :
(A a=IV,b=1lll,c—Il,d-1 B) a=IllLb=Il,c—1IV,d-1
(C) a=ll,b=Il,c—1IV,d=1ll (D) a=1IV,b=Il,c=1I,d-1l

8. T Y M e &1 U IFIU=GE MR did T8l 8 7

(A) TfER (B) WG

(C) T & (D) ®fieh TEmd
Which one of the following is not a source of informal agency of education ?
(A) The family (B) The community

(C) General games (D) Religious institutions
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9.

10.

e =l T ITET T IR T I[E ik SFafRd hifT |
|. I THT HT FTH
I1. e farfer
I, SN o 33
IV. 3Thgl 1 €U
= feu e e # @ w9 W I
%
(A 1,11V, B) I, 1V, 1,11
(C) 1,1, 1V, 1 (D) 1,11, 1v
Arrange the following from beginning in a sequence.
I. Selection of research problem
Il. Method of research
[ll. Objective of research

IV. Data collection
Choose the correct answer from the code given below :

Code :
(A) 11,1V, B) I, 1V, I, 11
(C) 1,1, v, 1 (D) 1,1, n, v

= @1 o & o & s it AR (A) TUT QR I BRI (R) HE TR |

%W(A):W.aﬁ.w.w.@%W%WWW%%&TWﬁ 2015 ¥ 3&
o |

(R) T 3778, 3. TS, o1 3299 Tl WIeuel & TR T WRd W1 § 3= e geaml o
frougr 3R aReRll qeare JeH & B |

(A) (A) 3R (R) HT & & 3T (R) , (A) T Hell samea ohidt &

(B) (A) 3R (R) THI T & 94 (R) , (A) h! T AR & il &

(O) (A) & & Wg (R) Terd

(D) (A) TeTd ® T (R) ¥ &

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).

Assertion (A) : The NIRF is a ranking system introduced by the Ministry of Education,
Govt. of India in 2015.

Reason (R) : NIRF aims to provide a fair and transparent assessment of higher education
institution across India based on various parameters.

Select the correct answer from the code given below :
Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A)is true but (R) is false

(D) (A)is false but (R) is true

72
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11.

12.

13.

14.

TS | foT SeT uATtetfad & Y U g 7
a. ST & JER 9 TR W@ |

b. FATE qieoTHt <t wfersraoft e |

c. HrEs & delHT |

d. TN H T | ghg |

= feu o e § @ T IW g

He

(A) Had a, b, ¢ (B) %ad a, ¢, d
(C) %ad ¢, b (D) % b, d

What are the major uses of Big Data Analytics in governance ?
a. Tracking the spread of diseases.

b. Predicting election outcomes.

c. Enhancing cyber security.

d. Increasing govt. tax revenue.

Choose the correct answer from the code given below :

Code :
(A) a, b, conly (B) a,c,donly
(C) c,bonly (D) b, donly

W g fanfed sTenes Atk ewa # frmfefaa § & # aftifera 78 2 ¢
(A) =g (B) 3T (ORELSEL (D) HIEAT

Which of the following is not included in the cognitive educational objective proposed by Bloom ?
(A) Comprehension (B) Application (C) Analysis (D) Organization
fr=fafga 9 9 SH-a1 w1668, goreft =1 ges & B 7

(A) BTEAR (B) HTHERI (C) F= (D) STAHIH TR

Which of the following is not a component of an ICT system ?

(A) Hardware (B) Software (C) Information (D) Biometric sensors
HE h AE S 3Es fmior & T s 6 S R, weerd
(A) 3T 37 TH (B) R T TH (© emswa (D) 9 WM

The memory of the computer which is programmed at the time of its manufacturing is called as
(A) ROM (B) RAM (C) PROM (D) EPROM



15.

16.

17.

18.

= & 9 = v Bhm gigman (veng) 3w 97§ 7

(A) TE ™ RR (B) Sifert

(C) T3S (D) =2 S
Which one of the following is not an Artificial Intelligence(Al) tool ?
(A) Google Play Store (B) Gemini
(C) Claude (D) Chat GPT

freferftad § & 9 g Yguur 1 HRUT B 7

(A) 3T (B) T (C) Tfrg-amt (D) T
Which of the following is the cause of soil pollution ?

(A) Ozone (B) Aerosol (C) Acid-rain (D) Smog
(A) TSIH aF (B) dfest a=1 &1

(C) UTEH A H (D) 3IcESH a1 i

“Limbic system” is part of

(A) Reproductive system (B) Nervous system

(C) Digestive system (D) Excretory system

far=feifiaa @ 9 19 wid § 31 fedsw 2024 T THEL A B 7
a. SREU I=SE WIS
b. TG e

c. FoTe AW
d. W T T

Hrer fow U e & wE I g

®e:

(A) I a 3N b (B) e b, ¢ 3N d
(C) a, b, c 3 d (D) haeT a 3 ¢
Which of the following is a Ramsar site in India as on December 31, 2024 ?
a. Bakhira Wildlife Sanctuary

b. Ramgarh Lake

c. Sundarban Wetland
d. Sultanpur National Park

Choose the correct answer from the code given below :

Code :
(A) aandb only (B) b,candd only
(C) a,b,candd (D) aandconly
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19.

20.

21.

22.

23.

24.

o 4 fer 2 | | |
(A) 3TUEHE H (B) Frepiem o (C) w&Tgia o (D) fufem o
‘Barren’ Island is situated in

(A) Andaman (B) Nicobar (C) Lakshadweep (D) Minicoy
Mok ol FEAM, g 1 TATOAT el g3 ot 7

In which year Atomic Energy Institute, Trombay was established ?

(A) 1948 (B) 1950 (C) 1952 (D) 1954
e e T Td TSl % AW < Siig f¥ T E | 98 et 1 g HI |

G T T

1. I TR - Oy

2. R’ dectvg - fym

3. Ul AT - TeTer

4. G EIR - I ‘ .

(A) 17d 2 e 3 (B) 178 4 W&l €
(C) 2Td 3 Wl & (D) 2Ud 4 HE &

Ramsar sites and name of states paired below. Choose the correct pair.

Ramsar Site State

1. Sakya Sagar —  Madhya Pradesh

2. Sirpur Wetland —  Tripura

3. Pala Wetland —  Meghalaya

4. Sur Sarovar —  Uttar Pradesh

(A) 1 and 2 are correct (B) 1 and 4 are correct
(C) 2 and 3 are correct (D) 2 and 4 are correct
form stfirer & Frefie@ wa IREt gHT T 39 T A Seoig fierdt 7 7

(A) ST SR (B) Ugret It
(C) 3ate ITfieE (D) Tt =y srfier

In which inscription both Kalidas and Bharavi are mentioned by their names ?

(A) Prayag Prashasti (B) Aihole Prashasti
(C) Ayodhya Inscription (D) Bhitari Pillar Inscription
gftqur arhient § I fogie o w9 iefish o1 3 o a1 § S ueeht < i oft 7
(A) FIA (B) A= (C) T "SR (D) SK
Which rank was given to Gandhiji in British Army at the time of Julu Revolt in South Africa ?
(A) Colonel (B) Sergeant (C) Sergeant Major (D) Major
‘SreTar fohm v § foreft mft oft ¢
(A) UTE (B) Teht (C) T (D) 3%

In which language was ‘Babarnama’ written ?
(A) Persian (B) Turkish (C) Arabic (D) Urdu



25.

26.

27.

28.

29.

30.

SHfE AT 6l STTURON 61 IR §3

(A) Fregfern § (B) Wia

(C) Tg TsT Tufept o (D) IATEeE fohren o
The concept of Public Interest Litigation was originated in

(A) Australia (B) India

(C) United States of America (D) United Kingdom (U.K.)
GaU™ |97 1 9UH HATUEE T e SN g3 o ?

(A) 16 3T 1947 (B) 26 SHal 1947

(C) 09 feHsR 1946 (D) 26 Ta«X 1946
When was the first session of Constitutional Assembly held ?

(A) 16t August 1947 (B) 26t January 1947
(C) 09t December 1946 (D) 26! November 1946

IRd & Hfau™ § freaffed § @ -1 31w 99wk Taiiisr § g6fid 8 7
(A) 3TTTT 324 (B) 3IT=T 325 (C) 3=8¢ 326 (D) 3BT 327

Which one of the following Articles of Constitution of India deals with adult suffrage ?

(A) Article 324 (B) Article 325 (C) Article 326 (D) Article 327
T I H WA 1 fIva § HiA-81 WE 7 7

(A) S (B) fodfta (C) Tl (D) =g
What is the rank of India in the world in rice production ?

(A) 18t (B) 2 (C) 3 (D) 4t
0.3, (P.LI.) ThH fre s &= @ Hafud & 8 ¢

(A) et fafamior (B) JCHISTESA ST

(C) Tafercar 3ushtor (D) 39U H T g &l

PLI scheme is not related to which one of the following ?

(A) Mobile manufacturing (B) Automobile industry

(C) Medical devices (D) None of the above

R H TaadT o T9ETd Y GUR 1 AL B 1 TeHeh 39T o

(A) i feramt i wfir st qafdaro (B) 3=l Hrafxl sl SGTET ST

(C) Y I =l WeHTled HET (D) &t &g HiY it 1 Frsfierror
The primary objective of land reform in India implemented in the Post Independence was

(A) Redistribution of land to landless farmer (B) To promote real estate

(C) Promotion of agro industries (D) Privatization of agricultural land for cultivation

72



31.

32.

33.

34.

35.

ot famm

ZOOLOGY

Na*K* 799 o E=leld o SN o1 afed giar g ?

A) o Hifead 3TEA 3R S WM IRE & A T9w A

B) < Hifsa® 3 3R A qieRrm 3meH % 9l vaTE 9@

C) o |ifgam A & A=A TN 3R g IREH 31 o «Tel Ja1E 9
D) o Hifeaw 3T & STl JaT8 © < U 3H & 31 Yo §

What occurs during the Na*K* pump operation ?
(A) Influx of 3Na* ions and 2K~ ions

B) Outflux of 2Na* ions and 3K~ ions

(
(
(
(

(
(C) Influx of 3Nat ions and outflow of 2K* ions
(

D) Outflux of 3Na* ions and influx of 2K* ions

et % qe § e Freffan S A 3

The core of nucleosome contains following histone proteins

(A) H2, H2A, H2B, H3 (B) H1, H2A, H2B, H4

(C) H2A, H2B, H3, H4 (D) H1, H2A, H3, H4

S 1 HH-T1 JAeHved Nod Tod Tgel TIfd g3 o ?

(A) TR ht @I (B) Trhtsh (C) =T et (D) reAfify
Which of the following biosphere reserve was first established in the country ?

(A) Gulf of Mannar (B) Nokrek (C) Nanda Devi (D) Nil Giri
gl | al e e @

(A) et (B) W (©) T, (D) &=
Ultra sonic waves are produced by

(A) Gorilla (B) Bear (C) Emu (D) Pteropus

T O HH-H TS TRENE f5haT 81 & 7

(A) IrERTforT (B) HEsHITT

(C) HETTehIHT (D) Fewifran

Which one is not a positive interaction ?

(A) Amensalism (B) Protocooperation
(C) Mutualism (D) Commensalism

-10-
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36. 9Rd H TR €9 ¥ e I I 2
(A) foet e (B) eArerdTel

(C) hrent f&m (D) dg3

The critically endangered species in India is

37.

(A) Pigmy hog

(B) Red panda

(C) Black buck (D) Leopard

FrafaRaa @ & HH-91 y=foa (SUHifeh) adeo g 2

(A) FHEhHA-aT™ Tegor
(C) T-fege whieqor
Which one is a parametric test ?

(A) Kruskal-Wallis test
(C) Mann-Whitney test

(B) = =1 fergetwor (wHie)
(D) T T ge-graey

(B) Analysis of variance (ANOVA)

(D) Spearman rank correlation

38. UwE-fortur fordeh g Icaftadd st 8 2
(A) feefiom & g (B) TS % gRI
(C) grHerd % grI (D) SE-FTRIERHE % g

X-rays causes mutation through
(A) Deletion

(C) Transversion

(B) Transition

(D) Base substitution

39. R P HEwifyeh i grr wnfea giar 7 | FrefeRea & @ S-wn et & e
fawda € ¢

(A) s T S fepet oft wor & ford S @k

(B) UEA I16G STt (ST o1 Sfiiae il @ 3R gort T (Sef) o1 Sfaffue s @
(C) ™ eferes 0 for@ Sd @ dun 3= - W@ifeha foham Srar 2

(D) B1Y T forg STH W T@iferd fopam ST =iz

Nomenclature is governed by certain universal rules. Which one of the following is contrary to the rules
of nomenclature ?

(A
B

) Biological names can be written in any language

) The first word represents generic and second represents species epithet
(C) The names are written in italics and are underlined

)

(D) When written by hand, must be underlined

-11- 72
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40.

41.

42.

43.

frfafea T g PR- T HAT T B 7

(A) Tt STl TR % T § SEEel Wi % i S el 8
(B) Tt 38 deft Sl # fesi feufa g 2

(C) feaeT THETAT 9Tl el § sATSedeh 18! T aidl &

(D) Tt IS HIRH! B wifeh Tt weehl HSe TE &

Which one of the following statement is true ?
(A
(B
(C
(D

HHS TS HSCN o (HTANGD § § -1 TGV FIEIAIAFE TSl o FHE 81 8 7
(A) TITEA dTed o 1Y 3T (B) TR STTIferd

(C) INUTHeT ZHI e FehU TTT e (D) &M WIg GHel

Which of the following characters of lung fish does not resemble with cartilaginous fishes ?

(A) Intestine with a spiral valve (B) Nephrostomes absent
(C) Gills covered by operculum (D) Similar conus arteriosus

. . T H R e 3ewEl A g s gl @ 3 W 3 gz i g o
ST Bl B | §9 EEe bl ST AT @

) All organ system level animals have tube within tube body plan
) All blind sac animals written bigerminal condition

) Animals having radial symmetry contain blind sac body plan

)

All chordates are vertebrates but all vertebrates are not chordates

(A) g BT @I (B) =TI 1 frem
(C) el 1 forem (D) =efersr =1 g

DNA has an equal number of adenine and thymine residues and equal number of guanine and
cytosine. These relationships are known as

(A) Von't Hoff plot (B) Chargaff’s rule

(C) Coulomb’s law (D) Chatelier’s principle
fofie gea wu @ forg %rf g % wror ot fomieh 2@ 8 2

(A) BTSSRI T (B) ST g

(C) HIEhe TR (D) TeehTEet HE

Lipids are primarily hydrophobic because of which functional group ?

(A) Hydroxyl group (B) Carbonyl group

(C) Phosphate group (D) Alkyl group

-12- 72
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44. IR HA8 T HEEEGE TUG &7 i 3R i a1 S 2

45.

46.

(A) TATSShTch [oTeE
(C) TATSHITEH

(B) TSR
(D) Tfe3ATeITght

The carbohydrate rich zone on the cell surface is also called as

(A) Glycocalyx
(C) Glycoprotein

e et 1 T 31T O Safeya Hif |
. fersnei=

. 33EHH
. A

Iv. anferea
= feu e e # ¥ FwE IR gAT ;

e .

(A) L1, 1v, 1
(B) LIv, 1,1
(C) n, 1, v, 1
(D) 1,10, 1, 1v

Arrange the following epochs in a sequence.
I. Palaeocene

Il. Eocene

Ill. Pleistocene
IV. Oligocene

(B) Glycans
(D) Proteoglycan

Choose the correct answers from the code given below :

Code :

(A) LIL v,
B) LIV, 1
(C) 1,1, 1v, 1
(D) I, N, 1v

S I R

(A) fea o

(C) 39 TEeT |

Obturator foramen is found in

(A) Heart

(C) Pectoral girdle

(B) =nfor geT o
(D) HIATHIAT T

(B) Pelvic girdle
(D) Vertebrae

-13-
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47.

48.

T — | 1 G - 11 3 H1Y GafAd H |
T - T -1l

a. A SeH i, 3 o
b. THETE i, T TE=R
c. HUIEE iii. TN STRl ST
d. YEH gME iv. B
(A) a—i, b-iv, c—iii, d-ii
(B) a—iii, b-iv, c—ii, d-i
(C) a—iii, b-i, c—iv, d-ii
(D) a—iii, b-iv, c-i, d—ii
Match List — | with List —II.
List -1 List -1l
a. Mons pubis i. Urine formation
b. Glomerulus ii. Second messenger
c. Ferroptosis iii. Female external genitalia
d. Protein hormone iv. Haemoglobin
(A) a—i, b-—iv, c—iii, d-ii
(B) a—iii, b-iv, c—ii, d-i
(C) a—iii, b-i, c—iv, d-ii
(D) a—iii, b-iv, c-—i, d—ii
=1 1 T I1sRE § Saferd Hif |
. g At
II. STy
. gy efefors
IV. B "
ﬁﬁ?ﬂﬁ@ﬁﬁaﬁwgﬁq :
®E :
(A) 111V, B) I, 1V, 1,11 (C) 1,1, 1v, 1 (D) 1, 1, 1, 1V

Arrange the following steps in a sequence.
I. Homo sapiens
Il. Australopithecus

[ll. Homo habilis

IV. Homo erectus

Choose the correct answers from the code given below :
Code :
(A) LIV, B) L1V, 1,11 (C) 1,1, v, 1 (D) L1, v
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49. WUHK FFEr H fwdr w=F § Y@ Areish 1§ 7

(A) ST T (B) TR TEHH
(OREIEIRE-IE] (D) UREANE T
What is the primary driver of altruistic behaviour in kin selection ?
(A) Genetic relatedness (B) Social hierarchy
(C) Environmental pressures (D) Reciprocal benefits
50. T — | I T — 11 o HY AT B |
T -1 T -1l
a. HPhS ITaUYH . e
b. IS STAUYH Il YaTeTsfE
c. CAMP &I lIl. FTEFAERA-T
d. K*3Ta IV. IEhITCIeH
(A) a=1ll, b-=1V, c—I, d—1l
B) a=1lll, b-=I, c-1v, d-I
(C) a=1Il, b-1V, c—I, d—1ll
(D) a=1I, b=, c=1ll, d-1IV
Match the List — | with List — II.
List -1 List -1l
a. Phosphate inhibitor I. Ouabain
b. Kinase inhibitor II. Rapamycin
c. CAMP level lll. Cyclosporin — A
d. K* channel IV. Phosphorylation
Choose the correct answers from the code given below :
(A) a=1lll, b-=1V, c—I, d—1li
B) a=1ll, b-=I, c-1Iv, d-I
(C) a=1Il, b-1V, c—I, d—1ll
(D) a=I, b=, c=ll, d-1IV
51. HIE H XXY URE I aTeT U Afad foefad gmm
(A) THTH (B) T Tl H
() faferft o (D) T Iecd Hrel H
An individual with XXY chromosomal complement in humans will develop as
(A) amale (B) afemale
(C) a hermaphrodite (D) a super female
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52.

53.

=1 =1 T AT § Safe i
| Shifew a. YR SHETH
Il. SRIATTSIR b. T=EE
. fea= (g) c. Rrien
IV. Pt Wt d. Sgeen wifad
f= fou ™ e # ¥ T W g
?:
(A) 1-b,ll—a,lll—c, IV—d

(B)
C) I-c,ll-a,lll-d,IV-b
(D)

l—a,ll=b,Ill-d, IV-c

[-d,ll=Db,lll-c,IV—-a

Arrange the following steps in a sequence :

I. Jaundice a. Leishmania donovani
Il. Kala-azar b. Leptosira

Ill. Dysentry c. Shigella

IV. Whooping cough d. Bordtelle pertussis

Choose the correct answers from the code given below :
Code :

(A) 1-b,ll—a,lll-c,IV-d
(B) I-a,ll—b,lll—d,IV-c
(C) I-c,ll—a,lll—d,IV-b
(D) 1-d,ll-b,lll-c,IV-a

TEE % 3R hl AT S G TSI e Liehetd T UTs STt &

(A) IR (B) TeSHIHITGH

(C) Tedreifea (D) TEhIH

Dome shaped glycoprotein found on the membrane of rough endoplasmic reticulum are
(A) Ribophorins (B) Glycophorins

(C) Lipophorins (D) Transferrins
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54. AT TTNIEATaeh! § gsead IRwEw fagid &1 =1 319 & 7
(A) ST H STl T Y B I U7 S 3T TRIIEY Hl AHIR HTH HT Th fo=m
(B) Tt ATATEROT | WISH &g TR 6T STTTTIHAT
(C) WS Y SAferehe™ WA S WTE ST Fehell &
(D) WIS Sl AT H Al bl &S T8N
In behavioural ecology, the term optimal foraging theory refers to
(A) Idea that animals optimize their foraging strategy to minimize energy expenditure
(B) Need for forage for food in all environment
(C) Maximum amount of food that can be consumed

(D) Instinctual behaviour in animals for search of food

55. =1 o1 T IRY H Fafeyd HIT

IV. SARITEH
= fou T e # ¥ w9 IW g
&R
(A) 111V, B) LIV, 1,11
(C) 1,1, v, 1 (D) I, 0, 1, 1v
Arrange the following in a sequence :
I. Cambrian
Il. Permian
[ll. Carboniferous
IV. Pliocene

Choose the correct answers from the code given below :

Code :
(A) L1, 1v, 1 B) I, 1V, 1,1
(C) I, 1, Iv, 1 (D) 1, 1, 1, v
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56. T o ¥ -9 HUT G & 7

57.

(A) RIS 3R ISl TR-3TT=Ih hT &

(B) IS, HIGIS TR Fehlsl - 3TT=IH b &
(C) FehIT 3T IHHN TT-3TI=mreh I &

(D) THHIS 37T ST &

Which of the following statement is correct ?

(A) Glucose and sucrose are non-reducing sugars
(B) Glucose, maltose and sucrose are non-reducing sugars
(C) Sucrose and raffinose are non-reducing sugars

(D) Raffinose is a reducing sugar

= @1 e fou T E | U 1 SifieRY (A) GER T T (R) HET T R

TR (A) : DRI Fhdantes sfat & ki fomm o mgeaqul it 371 4 2 |
@ (R) : I8 fgciae Harges &1 %l faeprmenss ffem § & 2 |

IR Ferl % IS B Frefiad fmed § ¥ gatfie IR I 9 -

(A) (A) 3T (R) SHT T 2 3 (R), (A) F =& == 2

(B) (A) 3T (R) I T&l 2 3T (R), (A) T T =amen 42 2

(C) (A)®&l B W (R) Tefdl &

(D) (A)TTEId & TG (R) &l &

Given below are two statements. One is labeled as assertion (A) and other is labeled as reason (R).

Assertion (A) : Sterols play essential roles in physiology of eukaryotic organisms.
Reason (R) : It serves as a secondary messenger in developmental signalling.

In the light of the above choose the correct answer from the options given below :
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(B) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(C) (A) is correct but (R) is not correct

(D) (A) is not correct but (R) is correct
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58. TeI3hicg BHIEITSH (HbA1C) Wl Tl = o aR # o1 =afed o & fofe wgM ot 8

(A) TeTeUdT (B) ereftfirm

(C) feet =1 g (D) HYHE

Glycated hemoglobin (HbA1C) level provides information for management of
(A) Anaemia (B) Thalassemia

(C) Heart attack (D) Diabetes mellitus

59. SHEEI § HYR @ Iig el Bl B 7
(A) J& gfg ¢ fRr gt 2
(B) SHEEAT Uge Sl § S 8 TRt a8 &mal W ugaeRt [N Bl A1 @
(C) e g &9 | Fedl §
(D) SFex feer et 2

A population exhibits logistic growth when

(A) When its growth rate is constant

(B) Population growth exponentially at first, the stabilize reaching carrying capacity
(C) Population grows linearly

(D) Birth rates remain constant

60. = fGU T QI oAl § ¥ T o JAMHA (A) 3T g8 I T (R) el T ¢ |
AfHRAA (A) : TTRfTH T e Al doh Forar & 37 T8 JSfei Sl 5 <t & |
ek (R) : TehIoTdT TuTd Joiaan o wfersy o1 v faffid s 2
IR e % e B FrefRad feed § 8 Faiie ST I -
(A) (A) 3R (R) 3T T 2 3R (R), (A) 1 W =T 2
(B) (A) 3T (R) 31 Wt 2 3T (R), (A) i Tt =me 4 2
(C) (A) W&l & Tg (R) Terd 2
(D) (A)TeTd & W (R) WEl 2
Given below are two statements; one is labeled as Assertion (A) and other is labeled as Reason (R).

Assertion (A) : Natural selection operates over many generations to give rise to new species.
Reason (R) : Bottleneck effect determines the future fate of the species.

In the light of the above choose the correct answer from the options given below :

(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(B)

(C) (A) is correct but (R) is not correct
(D)

Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(A) is not correct but (R) is correct
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61.

62.

63.

64.

BIEcloNTesh 98 | Teh HHTGIScfeh THE il 2

(A) STl 1 U O s is T et T8l gl @

(B) SSTferait b1 weh Ty el Ueh amT=r qeiw 3R 3qeh @l vt wfiret € @
(C) STl 1 Ueh wHg e Teh gl § We W FHIed il 8

(D) SISIfeRl <l Uk HYg oo Siiad o g8 T s T T I8 St 2

What does a monophylectic group in a phylogenetic tree represent ?

)
)
)
)

(A) A group of species with no common ancestors
(B) A group of species that includes a common ancestor and all of its descendents
(C) A group of species that are the farthest related to one another

(D) A group of species that can be found in multiple places on the tree of life

1 % RO TR T UL wersfE wehienem § 98 g 3
(A) ¥4 1 3T

(B) fder@ 3R TG AU-T1Y BT &

(C) TawrsH *re 1 319

(D) ITR gt

mRNA splicing does not occur in prokaryotes because of

(A) Lack of introns

(B) Transcription and translation occur simultaneously

(C) Lack of splicing agents

(D) All of the above

ot .19, I H-H fewea Tyt & ?
Which histone binds to linker DNA ?
(A) H1 (B) H2A (C) H2B (D) H3

foreprEaTd el 9 e srffertor i faftr sgerd @

(A) BT (B) HEATHeh dTTehul

(C) FAfsieead (D) SATehfcfas maTia afietr
The method of classification based on evolutionary relationship is called

(A) Phonetics (B) Numerical taxonomy

(C) Cladistics (D) Morphological taxonomy
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65.

66.

JEhIT TSI hI g s @@ # 7

(A) 3=9 1o IHT T gF § IR

(B) TR & Ieh{l TF 3o TF Iehdl

(C) T & IhU T I=d gF IR

(D) 39 T&d YU TF I fIdH g

What is the main characteristic of renal glucosuria ?
(A) High blood glucose and glucose in urine

(B) Normal blood glucose and glucose in urine

(C) Low blood glucose and glucose in urine

(D) High blood glucose and no glucose in urine

& 1 IAE B |
a. Te=AiTE JMall & ATSSIhITgaT T 31T BT &
b. IEHMIE MRl H HISSIhITSAT BIT &
c. FeETicTs o ATk ATSCIehilgAT BT &
o, Fffer # WS B

v e T e & T S SR -

(A) % a, c

(B) hdd a, d

(C) ad a, ¢, d

(D) e a, b, d

Find correct one.
a. Diplomonad animals lack mitochondria
b. Retortamonad animals have mitochondria

c. Parabasalids have actual mitochondria

d. Euglena has mitochondria

Choose the correct answer from the options given below :

(A) a, conly
(B) a,donly
(C) a,c,donly
(D) a, b,donly
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67.

68.

69.

70.

71.

HAftm wEfen widH 1 yE Ve 8

(A) FTHIfC (B) e
(C) LAP-2 IidH (D) fafue
This is key regulator of Lamin binding protein

(A) Calmodulin (B) Kinase
(C) LAP-2 protein (D) Lipid

-1 TG T arfieheor fam 61 firg a8 2
Which ratio proves independent assortment law ?

(A
(

1:1:1

vy

2:1
3:3:1

O

D

) 1:
) 1:
) 9:
) 3:1

(
(
uefeg eueH =1 IerEwor urn ST 8

(A) ST fib=r (B) SISt

(C) uiewt | (D) Jured Hoft

The example of adaptive radiation is seen in

(A) Darwin Finches (B) Mammals

(C) Birds (D) All of the above

ST o forehTd o SRIA 3T3T&T <l T L Tl T &

(A) STEHIES (B) T (C) THIeE

During drosophila development anterior axis is decided by the proteins

(A) Bicoid (B) Nanos (C) Engrailed

e § A HH-F S SRUE % w § arfiga fhy ST F 7

(A) STYHEH (B) HieT&h

(C) wrfthy wg = ifq (D) wHifTem

Which of the following animals are classified as deuterostomes ?

(A) Arthropods (B) Molluscs

(C) Starfish and sea urchins (D) Annelids
29
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72.

73.

74.

75.

76.

feudfa wrmsm freeht 9 WA 59 w7 grT & Bt @

(A) BTSSIHITeh SATHY0T (B) BTSSIThicTeh STTeRETT
(C) HeHIASTH &+ (D) IATh o7&

In Plasma membrane proteins are held in the bilayer mainly by these bonds
(A) Hydrophobic attraction (B) Hydrophilic attraction
(C) Covalents bonds (D) lonic bonds
qEUE § Tt Wgpem o hicoem amfen wida sa-ar @ 7

(A) HIEHIG A (B) Shedafe

(C) g (D) ersfe

The calcium binding protein in the endoplasmic reticulum of skeleton muscle is
(A) Calmodulin (B) Calsequestrin

(C) Troponin (D) Titin

ST TR 1 STfies faRiEvr aftass & fopg M A Bar @ 7

(A) 9= (B) Hgell STl
(C) T (D) TTEHISTH
The primary control of respiration is located in which part of the brain ?
(A) Pons (B) Medulla oblongata
(C) Cerebellum (D) Hypothalamus
319 ST Teh Tehd FETX U AT & 98 &

(A) wEE (B) WMTEH

(C) 99 (D) 39 o

The molecule that binds to a signal receptor is

(A) Ligand (B) Effector

(C) Receptor (D) Epitome

wrsHT fereeft o 3T=afies ded i @ & U 35 Y I drelt dehie ST @
(A) HEAHIEH Ieafd gemenieh! (B) ShIST-Sherer gcidrg A HEHGRIh!
(C) STaeferielt ewgfi! (D) I55ad & GEHGITh

The technique used to visualize the internal organization of plasma membrane is called as

(A) Multiphoton excitation microscopy (B) Freeze-fracture electron microscopy

(C) Phase-contrast microscopy (D) Bright field microscopy
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77.  Trafafea e = gafera Hifv |

W A W B
a. 3uTfareh 3TTeRefie . Wi U
b. S UITEN Il EEgIaH Il
c. UTgEde SRR IIl. TTEHHE — C
d. w &. . fgers IV. THTEA-HIT~ITEH-A
(A) a—1l, b-1lll, c—IV, d-I
B) a-lll, b-1V, c—1l, d-I
C) a=Il, b-I, c—Il, d-=1IV
(D) a-IV, b-1lll, c—1I, d-1lI

Match the following column.

Column A Column B
a. Molecular oxygen I. Proton Pump
b. Electron acceptor Il. Hydrogen acceptor
c. Pyruvate dehydrogenase lll. Cytochrome —C
d. ATP synthetase IV. Acetyl-Co-A
(A) a=1Il, b-=1Il, c—-Iv, d-I
B) a=Ill, b-1Iv, c—Il, d-I
(C) a-ll, b-I, c-l, d-IV
(D) a=1V, b-Ill, c-1, d-1ll

78. ShUN: TgEfeH 3R Tfded i Sfanfoge § wwsiraar &

(A) Mre B 3R Fts Z (B) FtsZ 3T Mre B
(C) MotA 3T Mot B (D) Pom A 37X Pom B
The respective homology of tubulin and actin in bacteria is

(A) Mre B and Fis Z (B) Fts Zand Mre B
(C) Mot A and Mot B (D) Pom A and Pom B

79. Thideh ¥4 H TR S ATl YEFSA] GRI TR0 § YGWeh <l HIgdl/HTAT i HH i hl STkl
FEetTl 8

(A) 3T=ATeh SeTT=RoT (B) T SeTI=RT

(C) STaI ST (D) STEI-TH A=Yl

The process of reducing concentration of the contaminant in an environment by naturally occurring
microbes

(A) Intrinsic bioremediation (B) In-situ-bioremediation

(C) Extrinsic bioremediation (D) Ex-situ-bioremediation
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80.

81.

82.

83.

Ueh =TT fSEd &) Arar-foar, @9 I gy 3ma4Te] $H1eET Teiid sid 8 U T9TE! TR & HHIeET
o |1 H e HLd & | I8 el S 8

(A) shefm (B) ThehRI

(OESIEEIPEREIC] (D) S SAfelehan

A phenomenon in which two parents that express the same or similar recessive phenotypes produce
offspring with a wild type phenotype is

(A) Epistasis (B) Complementation
(C) Gene modifier effect (D) Gene redundancy

Tsh TH=5H WTE | ST 10 ULTES S8 W TERid il 8

(A) T=TEE w1 foh I&T | 0-180° el 2

(B) 3R ¢ WIvT SiI foh deiiuwrss i TG o SEaga IV hl G &
(C) & UM YR % JSSUTI ToATeH & &Il 8

(D) Sulerd Tt

In a Ramchandran plot the w-angle at the peptide bond indicates
(A) Planarity of the peptide which is typically around 0-180°

(B)
(C) It shows similar types of backbone conformational region
(D) All of the above

IeTies o megmeret’” <t vt Bt gy femam

(A) T TR (BREEIRECEE (C) HIA-oAR=T (D) &1t 9 Ty
The scientist who decoded the language of “honey bees” was

(A) Emil Fischer (B) Niko-Tinbergen (C) Karl-Lorenz (D) Karl-Von-Frisch

v and ¢ angle which indicate the dihedral angle of the polypeptide chain

Th10] 1 HeT e sreEeiea tign B R | Toee | Heg i @
(A) ISHTU] ST TINUT T i & forw

(B) 3T TR T TR ¢ & ferw

(C) I o R IR ! faepfla & & ferg

(D) Ih19] i Tifersfietar @ fore ot yeM & & fau

The middle piece of sperm which contains oxidative enzymes helps in reproduction by
(A) To provide nutrition to the sperm

(B)

(C) To develop the whole body of the sperm
(D)

To harbor the haploid nucleus

To provide energy for sperm motility
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84. -\ fomfem qnl wrefensti § ynftes foem o M Hidiede Y e g ?

85.

(A) HIfh g

(B) == famfem

(C) oharet 1.5 um-sfter famfem

(D) 3.5 uw. a1 tg uh.Sf.us. At

Which signaling pathway is involved in mesodermal induction during early development in vertebrates ?

(A) Sonic Hedgehog
(B) Notch signalling
(C) TGF-B signalling only
(D) TGF-B and FGF signalling
=1 T <h1 37k T e Sital & firet i |
a. IT=H 901 i, e sfufae=e
b. TEATfEA i, feueramm st
c. 3ThIeh fgr =ty iii. TSI 2rfteRT
d. SEE T iv. feuaTEmT gpors
(A) a—iii, b—i, c—iv, d—ii
(B) a—iii, b—iv, c—i, d-—ii
(C) a—iii, b—i, c—ii, d-iv
(D) a—i, b—iii c—ii, d-iv
Match the following diseases with their causal organisms.
a. Orientalis sore i. Leishmania brasilensis
b. Espundia ii. Trypanosoma brucei
c. African sleeping sickness iii. Leishmania tropica
d. Chagas disease iv. Trypanosoma Cruzi
(A) a—iii, b—i, c—iv, d—ii
(B) a—iii, b—iv, c—i, d-—ii
(C) a—iii, b—i, c—ii, d-iv
(D) a—i, b—iii c—ii, d-iv
FHERE vaw w2
CNREE RIS (B) TSI (C) ®®S (D) =HE! /=
Crustaceans respire by
(A) Trachea (B) Gills (C) Lungs (D) Skin
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87.

88.

89.

FreafarRaa feerfim i &t o1 358 Trafa @ gaen & goaferd S |

fererform < et T e
a. foerfm— A | o S
b. foefim - B Il T
c. foafim-D IIl. ¥helt
d. feerfim-c lv. frehed
TE 3T T IIA BT
(A) a=-1l, b-I, c—1l, d-1V
B) a=I, b-1Ill, c-I, d-1IV
(C) a-ll, b-I, c—-1Iv, d-1ll
(D) a-MHl, b-1, c-1, d-1v
Match the following vitamin deficiencies with their associated health problems.
Vitamin deficiency Health Problem
a. Vitamin — A I. Beriberi
b. Vitamin —B II. Night blindness
c. Vitamin-D lll. Scurvey
d. Vitamin-C IV. Rickets
Choose the correct answer :
(A) a=1Il, b-I, c—Ill, d-1IV
B) a=I, b-Ill, c-I, d-1IV
(C) a=1ll, b-I, c-=1Iv, d-1ll
(D) a=MHl, b=, c-1, d-1v
Frafafaa 4 @ wramoaen sH-a1 w@ufaed T R 2
(A) HrEfeE (B) TEHEIgS TS
(C) 3TceTTgH T (D) ufgE=g U
Which of the following is not usually an auto immune disease ?
(A) Psoriasis (B) Rheumatoid arthritis
(C) Alzheimer’s disease (D) Addisson’s disease
frefafad § @ H-31 IR Hohad 1 Tgdta Hew ates T8 & 7
(A) o (B) hfce=m2+ (Ca*)
(C) STRUHTSARCTRIA (D) TI.TEl.TH.
Which is not a second cell signalling messenger ?
(A) CAMP (B) Calcium?2* (Ca2*)
(C) Diacylglycerol (D) NADH
-27-
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90. el Hehel o G Set <t Fmfor Serawer 3
(A) TTE HRIBRT T (B) 3Tfrem
(C) SHSITd (HES) =IER (D) &I ATER
The building of a web by spider is an example of

(A) Fixed action pattern (B) Releases

(C) Innate behavior (D) Learned behaviour

91. dfIehT OF % Hehd o JUTE H T4 & dTct T¢I U SATd &

(A) Fmeidre | (B) waft §

(C) Tu | (D) Wl

The heart that contracts in response to signals from the nervous system are present in
(A) Arthropods (B) Birds

(C) Mammals (D) Reptiles

92. WISAISHT fehEehl Heg & ST ST Tehel & 7
(A) E1. T T (B) HE=R W, TA. T.
(C) TSHEMe 3TR. T, T, (D) TEHL IR, T, T,
Phylogeny can be known with the help of
(A) DNA (B) Messenger RNA
(C) Ribosomal RNA (D) Transfer RNA
93. U W iR 3 U W waa gurfed ToH fr=failea # & fop 319spm g 3= fdfiers o o
U B 7

In rho dependent and rho independent termination sites there is similarity in secondary structure generated

by which of the following ?

(A) 1.5 — CGTATG -3’ (B) 1.5 — CGAATG - 3’
2.3 — CGAATG - 5’ 2.3 - GCATAC - 5'
(C) 1.5 — GGTACC - 3' (D) 1.5 — GACTAC - 3'
2.3' - CCATGG - 5' 2.3 —CTTAAG - 5'
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94. FHN3NH HIHIS § 5' Y HI FawTd TH. AR, T T. ¥ o6 U9 g1 Sirel S 8 7

(A) e g (B) dieft (v) diefiis
(C) T3TIerTeet ZhEthist (D) efieh

In eukaryotic cells 5' cap is added to nascent mRNA by which enzyme ?

(A) Methyltransferase (B) Poly(A) Polymerase
(C) Guanylyl transferase (D) Helicase

95. foHiTet Tmfte Srawen § teieEt favrem o S i TorgEt i gl oTg % T Serar 7

(A) fe=rdm (B) STEIEH (C) ¥=EH (D) WA
Synaptonemal complex extends along entire length of paired chromosomes during meiosis at the
stage of

(A) Diplotene (B) Zygotene (C) Pachytene (D) Leptotene

96. et # 4 fopm wiitfeufaes o o g arfereh anfifer weher wfives Scdreehar gt 2 7
(A) 3fiarsor qofardt ==
(B) ftarsor wgmavfi o=
(C) o hicaeia auied
(D) 9T Shicarefia qouiardt 5=
Which of the following ecosystems has the highest annual net primary productivity ?
(A) Temperate deciduous forest
(B) Temperate evergreen forest
(C) Tropical rain forest

(D) Tropical deciduous forest

97. HH-HT UTEHS JYFh THT & Ta8 TIEh & ?
(A) TS (B) et (©) fires (D) T
Which primate is the closest relative of modern man ?

(A) Orangutan (B) Gorilla (C) Gibbon (D) Langur
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98. HTZAIhIf~gdT h ITT=iieh fireell § HH-8 TTeH 3UfRd B & 7

99.

100.

(A) TEHTEIE IS

(B) HHITHTE TS

(C) THThIFH

(D) YerEH “T@ell USTEH To HedsiTgH

Which enzyme is present in inner mitochondrial membrane ?
(A) Adenylete Kinase

(B)

(C) Hexokinase
(D)

Monoamine oxidase

Respiratory chain enzyme and co-enzyme

‘G’ E ‘S TN H YEAM I B IGaT & ?

(A) TTsfae €- @.E® - 4 TR

(B) TTEfde T- W.E® - 2Tg

(C) dsfaeq <’ - H.&.% - 1998

(D) dEfaed - €% - 258

What triggers the transition from ‘G1’ to ‘S’ phase ?
(A) Cyclin ‘D’ — CDK — 4 complex

(B) Cyclin ‘A’ — CDK — 2 complex

(C) Cyclin ‘B’ — CDK — 1 complex

(D) Cyclin ‘E’ — CDK — 2 complex

IEH /20T /feAfig & Tepehiet 6t TR TTgHt JS1d i el STl @

(A) TATSHIETERA (B) TATEHIA

(C) TATSHITSEE (D) U

The non-enzymatic attachment of glucose to proteins/DNA/lipids is called
(A) Glycosylation (B) Glycation

(C) Gilycolysis (D) Ligation
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INSTRUCTIONS FOR CANDIDATES

. There are two Parts in this Question Booklet. The first part of which contains a total of 30 questions related to General
Knowledge.

. There are a total of 70 questions related to the optional subject in the second part of this Question Booklet.

. There are 100 question items given in this Question Booklet. Each question item is printed in both Hindi and English. (@
Four options are given for each question. Choose one of these options which you want to mark on the Answer Sheet. (@
If you feel that more than one option is correct, then mark the option which you think is best. Only one option has to (@
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be chosen for each question item. @
Immediately after the commencement of the examination, you must check the Question Booklet to ensure (@
that there are no unprinted, torn or missing pages or question parts etc. in it. @
. Candidates should open the seal of the Question Booklet only after being instructed by the Room Invigilator. @

Before answering on the Answer Sheet (OMR Sheet), the candidate should carefully read all the instructions in the @

Question Booklet and Answer Sheet.

The candidate must write his/her roll number, subject, correct question paper code, number of answered questions @

and number of unanswered questions neatly on the Answer Sheet (OMR Sheet), otherwise the Answer Sheet will @

not be evaluated and the entire responsibility will be of the candidate himself/herself.

. The candidate has to darken only one circle or bubble indicating the correct answer on the OMR sheet using @
black ball point pen only. If more than one answers are marked, it would be treated as wrong answer and it will not
be evaluated.

. Once answer is marked in the Answer Sheet (OMR Sheet), no change is permitted.

Candidate should not fold the Answer Sheet (OMR Sheet).

You are to mark your answers on Answer Sheet (OMR Sheet) only. When the examination is over, handover the

Answer Sheet (OMR Sheet) to the Room Invigilator.

In case of any discrepancy between the Hindi and English versions, English version will be taken as final.

If any candidate uses or attempts to use unfair means or creates any disturbance in the examination hall, he/she will

be disqualified from the examination.

No candidate will leave the examination hall until 120 minutes (two hours) are completed.

Rough work, if any, should be done on the blank sheets prescribed for this purpose only. No extra sheets will be @

provided.

Use only black ball point pen for writing your roll number etc. and for filling in the answers on the Answer Sheet

(OMR Sheet).

DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.

S 3 ; SN 1 T TR 36 TG ETeh1 3 I2W I8 WS 2 |

VOV RR

VO OR

SreL ol ol ol ol oL ol oy oy oL e e e e e e e e e e el ol el el el ol o oy e e e S e e e e Y e e el oL el ol v

-32-



